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Before welding After welding
Key
1 weld collar
A shape A of tip (example)
B shape B of tip (example)
Figure 5 — Shear connector (SD)
Table 10 — Di i of shear {SD) with I, according to Table A.4
Dimensions in milimetres
dy;-04%° 95 I 10 (127 | 13 16 19 22 25 | 254
dg203 19 25 224 32 5 41
d® 13 17 21 23 29 31
% 7 8 8 10 10 12
hy® 25 3 45 [ 8 7
at25° 225° 25° 225° 22,5° 25" 25
L5 Lpo+3 p2e+3 | pho+a | o4 [ 1boss | pPes5s

Excess diameter or production impressions in the shaft area below the head are permitted up to 0.5 mm.
provided they do not affect proper plunge.

Tolerance on I, is 23 mm,

For special conditions, e.g. through-deck stud welding, the dimensicns and the tolerances are not
applicable.

May be reduced to 28 mm for shear application.
Use of the optional dimension depends on national regulations.
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J= gz(bt?*) = §[2 x 0.83 x 9.1 4+ 0.53% x (18 — 2 x 0.8)] = 3.92cm*

E | Jc Jc \? 0.7£,\°
Lr—1.95nso_7fy tho+\/(5xho) +6.76< =

L =195 .2.44 2040 3.92%1 N ( 3.92 %1 )2 676 (0.7 * 2.4)2
= 1. * A, — . —_
r 0.7 2.4 |146(18 — 0.8) 146(18 — 0.8) 2040

= 374.8cm
L, =500cm > L, = 378.8cm
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Ry = 5= > = 1.67 ton
quxZ 2

M, =— > + Ryx = —0.335x“ + 1.67x
1

M, (x =X 5) = —0.335(1.252) + 1.67 X 1.25 = 1.56 ton.m
1

Mg (x =5 5) = —0.335(2.5%) + 1.67 x 2.5 = 2.08 ton.m
3

M, (x =2x 5) = —0.335(3.752) + 1.67 x 3.75 = 1.55 ton.m
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P I B e S Tk
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